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We testify regarding that person that he is the son of a divorcee or
the son of a 173917; we do not say, etc.

OVERVIEW

The 71wn teaches us that if 2*7¥ testified regarding a 375 that he is a 7wvMAj2 or a 2
790 (which makes him a %), and the 07y were oni (they became P 0¥7v),
we do not say that we should apply the law of "x) @it 2wr> 12 anwyy and (if the
0°7y were 0°310) they should become 0°%%n, but rather we punish them by giving
them lashes (Mp%n). Our MooIn discusses the punishment of these 07y (the Mpon);
whether it is considered as if the punishment of ant WX was meted out to them.

nooIN asks:
= NN AWV 12 PYYI 13N 1IN BNT 1122 NN

It is astounding! Since the mwn is teaching us that if these 07y were 2177, they

do not become a 77Y91 713 32 (they do not become 2°%%1), as they intended to make the

accused -
- >naNn XN 5901 2T 12 ©ND HY NU PN I KIWA D) )9 ON

Therefore even when they were not 217, how can the accused become a 132

[72y9m1] 72395 based on their testimony; for indeed this is the truth that if these
Q7Y were not o171, the accused becomes a 7¥1?7m WA 12 -
= S1Y1Y AT PRI 0tNY 9199 AAN INY MTY 1Y NN NP INDN)

But why should they be believed to make him a 577, since it is a testimony,
which you cannot be 2% it, and an 72175 912° R"Kw M7V is not an n1TY?!

Mo0IN answers:

! A %51 cannot do the 772y in the p"»7°2 and his children (and their descendants) are also 0*291.

% The n"a7 M1 amends this to read, *377 ax19m 7w (instead of *377 7w).

3 We must say that if these 0>7v testified that this 3713 is a 5211 (and they were not ani), he will be considered a 5%,
for if we will say that they are not believed to make him a 5%, then why give them mp% if they are onn?! They did
not harm anyone; more so they could not harm anyone since they are not believed. Therefore (since they do get
mpon if they were ani) this proves that they are believed to make him a %71 (if they were not an:).

* mpoIn assumes (in his question) that ant 2wx> 12 anw is fulfilled only when the 07y (who were o117) receive the
same verdict which they intended to give to the accused. However here the 0>7¥ intended to make the accused a %7r,
and (since) they do not become 2°7%n (they [merely] receive mpon), the anr Awxd 12 an w1 was not fulfilled,
therefore this is considered a testimony 77177 212 7iNX °XWw; meaning you cannot carry out the punishment of a7 w2,

> The X3 in X,2° 2°10D states that an 7112 912> XKW M7V is not an M7Y. See *"w1 there X177 7"7 who explains,
RhinisinFinhisiyil D”P5 D12 AnRY M7V L, mMwyb ant WK 17 anwyy A Tn APW TV A1 20T 20T AT MR K107
X2 R X My
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- *n19tnY 1199 HNN 99Y MM DN YYNRI M0 PPIDT 199 90 v
And one can say; since these 2> (of 70173 12) receive mpb», it is a case of anw,
ant WD 12, and it can properly be considered an 72177 9127 INRW MTY.

In summation; in the question M201N assumed that the fulfillment of anr 7WKR> is only when the
0>7v receive the exact same verdict as they intended to hand out to the accused. However, n1501n
concluded that as long as the 0>7¥ receive a punishment of mp?n (even though it is not what they
intended for the accused, nevertheless) it is considered a fulfillment of i1 WR>.

(Based on this conclusion [that np?n is considered ant AwR3]) NMOOIN asks:
- "n09I8"N DAY 21y *2) (N0 9T PA110) PP 1D PID 9INP YNNI 12 ONT DYDY

And there is a difficulty; for if indeed it is so (that mp%n is a fulfillment of WK
ont) what does I 27 say in P72 17 P99 regarding the 297y who testified
against a JIOINRT 7V -

- 550D NY 1NPNT 19T NIV DI KY 97INT
That the 707R»7 77v1 is not Kkilled, since the o°7v will not be Kkilled if they were

onn. The reason the 2°7v would not be killed even if o is -
- 09525105 9199 NAN SRY MTY 1Y NN *1IND 7Y YY NTONRY 9 PISY IUN

Because the 27V can say, ‘we came only to prohibit her to her husband, but not
to kill her. Therefore since the 2>7¥ cannot be killed, so it is an 2% R"Xw MTY

nm'm’?, which renders it an invalid M7V, therefore the 79v1 cannot be killed. This concludes the

citation of the X713 in 177710. Now N19010 continues with his question.
= 1P 01PN YN RN 9INRP INN)

® See on the "2 Ty where the X1 derives from the 0’109 in 2-8,772 (2°W9W) 0127 (where it states YW N2 12 OX)
that in the cases where we cannot apply the actual ont w5 (like by w173 12), the onmT 0>7Y receive Mpon, therefore
this np%n is considered as fulfilling the onr 2wR2. [Alternately see 7R 7" X217 7"7 2,7V p"2 "W where it seems that
the reason we require that it should be an 77177 912> AnRW M7y is in order to be sure that they are saying the truth
(for the o7y will be afraid to lie on account of the ant 7wX> punishment). Here too, since the 0’7y (are aware that
they) will receive mpon, this fits into the category of 72°1772 912> InRw M7v, that they will be careful to say the truth.]
7 A 7omNna Tl is a girl who is nwTpn to her husband, but there was no "X yet. These 0°7v testified that she
lived with another person (not her husband) while she was no7R» to her husband. In such a case the man (with
whom she was 71311 and the 707 %%7 771 (should) receive 72°p0 [see 73-33,25 (XxN) 0*127].
% 311 27 will explain that the 7077 7791 is killed only if the o7y warned her; however a1 21 is discussing a case
where she was not warned explicitly. [She should nonetheless have been killed because we are discussing a learned
77v1 who is aware of the 79°po 211 for this mur (following the ruling of 7737 "2 >0 ' that a knowledgeable person
does not require a warning to be punished), however in this case she does not receive 17°p0, because we invalidate
the testimony of the 0°7y that she was 7711 (as N1901N continues to explain).]
? The fact that they did not warn her lends credence to their claim (even if they were oni) that they had no intention
of having her killed by 7"*2, but rather only to separate her from her husband.
' The 07y cannot be killed (if amn) since they can claim we never intended to kill her, so their testimony (that she
was T [and therefore she needs to be killed by 7"1]) is an a2 X"Xw M7y, which renders it an invalid m7v.
Therefore we have no N7y that the 717v1 was 7.

2

TosfosInEnglish.com



RITW 121 Py A"7 '010 K, N1on 702

So what is 731 21 saying (that it is an 17 912> X"xw M7v);'" but in any event the

D7V receive mpbn,“ and M»on just concluded saying that if the P 07 receive mpn (for
testifying falsely) it is considered an m°177% 9120 InRw M7y (even if it is not the exact punishment
they wanted to give to the accused), so why here is it considered an 72°17% 912° X"Rw M7v?!

In summation, N1901N question is that if by the M7y of 7w17A 12 they are believed (even though we
will not implement the ant "wX> literally to make them a 7w 73 32, but nevertheless it is
considered an 1777 912° INRW MTY) since they will receive mpon if M7, the same should apply
by the M7y of 70INMI 771 that it too should be considered an 771777 912° AnKW MTY (even though
they are not killed), since they (too) will receive mpon if .

mooIn answers (and distinguishes between 70727 77v1 and w173 12):
- ¥a3h NN M9NY 1A NP NaNY PNAY 1193 ONNT 9D YU

And one can say that there by 7077 77v1 where the 0°7v come to make her

liable for the death penalty, and the 0°7v plotted to kill a person, in such a case -
- YD) MTYT H1TH 233 “wora ey 2505 XA XAT MPYNL DNt YUND DD NY

ant 2wN> in not fulfilled by merely giving them nmpbn, for the 70 explicitly

writes w212 woi (a life for a life) regarding the 112177 of a capital testimony -
= MPYRI NINY 9199 BPWN XYY

So it is not considered an ;12°177% 9125 INRW M7V by merely giving the nyphn vy -
= NP IND ON 3 NPT NRITN 121 AW 12 NNV XIN 1D NIY NN YaN

However here where the o7V only intended to make the accused a 331 723 32

737917, where there is merely a Y if they do the 7712y in the w7pn; in such a case -
= PTNY 01D NNNY MTY 929V SUN IPIY 11’0

Since the 0’7y receive NP it is properly considered an ;7279 120 AR N7y,

mooIn offers an alternate answer (to Md0IN original question):
= 79TNY D192 NNNA HYD 19PWIN NI AXITNY AWITN 13T TY 2207 990 W N

" We are discussing a case where the o7y were ona (they lied); for this they surely receive mpvs, so why is it
considered an 12 9120 R"&W M7v; why is it different from 7wx 72 (where they do not become a w113 13, but
rather only receive mpon and nevertheless it is considered an 72°1:7%2 913° anRw M7y). What is the difference between
the case of 701RM7 71 (where it is considered an 177 912° X"RW M7V [even though they receive mpon]) and the
case of w113 12 (where it is considered an 72°172 912° InRW MY [since they receive mphn])
2 We certainly cannot implement the Dt 9wX3 in the strict sense that they should become 79v2% 110K (just as we
cannot implement the 01 WX in the case of 7w 12); nevertheless they receive Mpon (just as by 7w 12).
" See “Thinking it over’ # 3.
'* Even though they may claim 11X2 7292 %Y 7102, nevertheless as a result of their claim (if accepted) the 771 will
be put to death since she was 1.
15 xo,0° (2*vow) o™aT.
'® The 770 explicitly requires taking the life of the Pamy 0*7 if they plotted to take the life of the accused.
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And additionally one can say that regarding the testimony of 72Yom wIm3 32
we are not at all concerned whether it is an 772a% 932° IARY M7V, and Moo
explains -

- 01t TauNam 112019 919 ANNY M1TY 1O¥AT 19 NPO) NINIT
For from where do we derive that we require an 7%°7% 912° anRw n17w? It is

from the 10D of anT MWK -
- By 127 MY 5235 an9) XY DN TYUNIT XINN2 NI XD

But it is evident in the X923 that the ?105 of a%r 9wN> was not written regarding

the testimony of a [FxY>m] 7295 32 -
- Yohyaw 18 oywa 195y Y59 IND N

And the ant wX> is not at all applicable to the testimony of 72173 12 in any

manner whatsoever. This is in regards to the n17y of 7w 12 -
= 1750 9123 IND DN YYNRI AN NOIINNN NIY) *2) DNN YaAN

However there in 777710 regarding a 7omIR®7 79w, certainly the anr =wK> is

also referring to the case of mownI 77W1 -
- 1A K92 519X 199N Intnwa 101K 2umn na yann Poxe

For if the o7y warned her not to be 1m, the o7V will be Kkilled if 21373, so

therefore where it is a case of 11177 8% and they warned her, she will be killed (since it
is an 1R 9120 INRW MTY).

(mpoIn addresses the obvious issue; why did 7117 27 state that she is not killed:
- (Pyn9hY HxD DIt TURIT 1199 1900 8YA 3991 Panm)

For there (in 717710 in the ruling of 17 17) we are discussing a case where the

7 Tn ©,0 (D°WOW) 0127 the PIDD writes PR MWY? ot WX 12 anwy. It is from this P09 that we derive the
requirement of an 72°17% 213° INRW M7v. See footnote # 5.
'8 The n"21 N amends this to read, X1 7212m 7w (instead of X9 7wA).
' There can never be a case of ant MWK 12 aNwy by the MTY of WA 12, so obviously the law of onr WK was
meant for other cases but not for this case. MmN in this answer is disagreeing with what mpoin stated initially (see
footnote # 6) that by giving mp?n to the 0>7y we are fulfilling the on7 7wR>. Now n1901n maintains that [giving mpon
is not a fulfillment of anr 7wKI, but] since there is no rule of anT MWK regarding 7WI73 12 M7V, so therefore there is
no rule of 7177 219° R"KWw M7V regarding a mw13 12. The rule of 72177 X"Xw MY is only when there is a possibility
of observing the ont AWK (as MooN will soon show regarding a 707N 717¥1); in such a case there is a requirement
of 137 215° InRW Mi7v; however where it is impossible to ever have the ont WD (as it is by 72113 12 [since NMpon is
not a fulfilment of anr 2wxo]) there is no requirement of 71°177 712° ANRW MTY.
2 The X"w=mm amends this to read 107 oX X7 (instead of 17N OXT).
! A 7x7n7 (a warning) by 07 consists of telling the person the punishment they will receive if they transgress this
sin (in this case; a punishment of77°po for being 17111).
2 They cannot claim 11X2 79v2 %y 770K, since they warned her explicitly, that she will be killed if she is .
> See footnote # 8.
** The marginal note(s) indicate that the X"wArn deletes the parenthesis. [However, from reading the X"w17n it seems
(to this translator) that he deletes from *7°X 12°K) until the end of the parenthesis.]
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0>7v did not warn her, therefore it is an 2172 212 X"XW M7Y since they can claim,
we only wanted to prohibit her to her husband, but not to kill her. And since (when
the 07y warned her) the rule of ant =swx> applies to them [to the M7y of a 7w
707IRA1I] in a case where 712 1707 -)

- 199119 919 HNN 1A TaY
Therefore we require that any testimony regarding a 707R%7 77v1 be a anRW M7V
hirsi i AP A-LR

In summation: Mo distinguishes between the M7y of 7w j2 (or similar cases) where the rule
of on1 WD can never be implemented; therefore there is no requirement that the N7y of 7w173 12
(or similar cases) be an 1°177% 212> InRW M7V (since it is impossible). However regarding the m7y
of a 707NN 771, where there is a possibility to implement the an1 WK, namely in a case where
the 0°7v warned her not to be 7117. In this case if the 07y were a7, the will be put to death ( WKR>
anr), since they cannot have the excuse that X2 79va %y 770, therefore since there is a
possibility that the ant WK can be fully implemented by 7077 77v1, we require an 7NRW N7V
172 27 in all case of a 70 XM 7. If in any situation of 7OMNRI 77W1 there is no NXY MY
12 9120 (for instance where they did not warn her, so they can claim X2 79v2 5v 770%Y), then
we say the m7¥ is disqualified since it is an 772°17% R"XW M7y, and the 70RMT 771 is spared the
death penalty. According to this answer of M0, punishing the 0>7v with mpYn instead of the
oMt WK punishment is not considered a fulfillment of the anr WwK>.

mMooIN (mentions a seemingly unrelated”) questions:
- 9919 4t NINY 1Y YWIN 1IN 1191 VP RY INDN PIPTY U

And one should discern; why did not the 71wn state, ‘we are testifying

regarding that person that he is a 9t2n, etc.’ (instead of saying that he is a Aw3 12).

The advantage of n1901n proposal is -
- ©%153 NUN 7509 X7 1Y) 12) D3N )22 INIY P2 T»W NN N9

That this testimony that he is a 7m» is applicable whether the accused (or the
0°7v) is a ®X"w> or whether he is a 3772; however the testimony that he is a 12
w13 will only disqualify 233579, but not a 7x7w» (there is no issue if a PR is a AW 12).

mooin replies:
- 71233 NIPRTD 109 N2 MNMIN IXDT DIYN NIVPIT AWM U
And one can answer; that the 71w» mentions 7v17) j2, since the mwn is

2 See Tmbnn waon XX # 122 (which deals with this issue).
® The rule would be the same (as by 7w17a 12); we do not say that the 7% 2>7v become a*1n, but rather they
receive Mpon.
?7 See the X3 on this Ty following the mawn.
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referencing a previous 7wn in 77710 which is discussing the 1772 na sam, as the
N3 states shortly, -

119992 THOUT 3799 VP AN
Therefore our 71w» mentions something that is applicable (only) to /2%, since
we are referencing another 7I1wn concerning 71172.

SUMMARY

Receiving mpo» may be considered a fulfillment of ant 9wR> (in a case where the
initial testimony revolved around a X7, but not where it concerns a nn°m 21n).
Alternately ant “wX>D is fulfilled only if the PnmT 0°7v receive the exact same
punishment that the accused would have received. However the requirement of
T2 912° InRW M7V is only in such cases where the ont 2wX> can be fulfilled (in
some manner); however where the 017 WX can never be fulfilled (as by a 72
W), there is no requirement to have an 72°11% 912° IR N7V,

THINKING IT OVER
1. Can 72 fulfill the m1%7 of YrX? NMWYY ant WX 12 anwy in a case where the
0>7Y cannot receive the punishment they intended to give the accused?

2. What would (seemingly) prove that giving mpbn fulfills the onr wrd 1% anwn,
and what can (seemingly) prove that giving mp» is not a fulfillment of onr wr>
(and how can these proofs be rejected)?

2. mooin asks, why there is a difference between 7oA 77w3 and w1 72.°°
Seemingly there is a definite difference; by a 707X»7 77Vl the 27V are not killed
because they never intended to kill her (the mp» is merely for lying about 770IX?
72va 9y, but not for killing),”” however by 72113 12 they intended to make him a 12
7w and are receiving this punishment of mpo» for this lie (because technically
we cannot implement the literal onr 2wx>)! What is 19010 question?!™

% See footnote # 13.
¥ Therefore it is an M7y (on the 0%, which we want to give her) that is 72°77% 912 X"X.
30 See Hxmw " wn (and footnote # 6 [in the bracketed areal).
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